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1. Answer all questions.
2. Al questions carry equal marks,
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4. If more than one answers are marked, it would be freated as Wrong answer.
§. Each question has four alternative responses marked serially as 1, 2, 3, 4. You have to darken the correct
answer. :
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Rutile is an ore of b
(1): Ti _ 2) Pt
(3) Cr | @) Ni
A Th UG ¥
) T @) Pt
@) Cr @) Ni

The colour of CuyCly is

(1) Blue

(2) Green
(3) Black
(4) White

CuyCl, & 1 3@ &
(1) e
(2) =
(3) e

(4) WH=

In Ni{CO),, Nickel atom is hybridized as
1) sp? : Q) s

B) dp® @ spd’
Ni(CO), ¥ Prea TTa] B G SEEEl ¥
M sp? @

-

B3) dp? 4) ) spid?
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4  Radioactivity is due to

(D .stable nucleus _ (2) stable electronic configuration
(3) unstable nucleus (4 unstable 'conﬁguration |
(edmRreaar &1 ®Rw ¥
(1) s @ T wRt e
() o Tifm | (@) ol frg
I fission, the percentage of mass converted in to energy is
(1) 50
@ 1
(3) 0.1
4) 001 -

- Rravew § gemE @ 9w whww W o o ¥ oRaRi @ 3
1) 50 | |
@ 1
3) 01
@ 0.01

6  The emission of a beta particle from the nucleus of a radioactive element
raises the positive charge by

1y 1 | () 2
3) 3 | @ 4
Wﬁﬁq&amﬁ%@ﬁaw%mﬁﬁwaﬁm
A gig 8, Ew

W 1 | @ 2
G 3 @ 4

b b e b b b b bbb b b b b by b b b
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Which is not an air pollutant ?

(1) 30, ) H,

3G) CO @ Co,
W WY wges T & 7
(1 SO, 2 H

G) Co @) CO

Which of the following is not a green house gas ?
(1) Methane

(2) Phosgene

(3) Carbon dioxide

(4) Oxides of Nitrogen

friflag & @ @ BT Tow W o ¥ 7
(1) A=

(2) Wi

(3) WA SEEES

(4) RIS % TS

~ Silicolysis disease is developed due to working in

(1) Cropfields (2) Thermal Power Plant
(3) Nuclear reactor (4) Mines
wet o w4 fufvefed I @ s ¥
(1 =& : (2)' an foga gaw
() e e (4) wEH
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10 EAN of Mn in Mm, (CO),, is

(1) 18
G) 54

2
()

My (CO),; & Mn %t EAN sFm

(1) 18

(3) 54

@)
4)

36

72

36

11  The basic structural unit of silicate minerals is

1 S

B) sio3”

2)

)

Si0y

S$iog~

fathe @i @1 qeyE dTeE e ¥

1y Si

@) sio5

12 Zeise's salt is
() (CeHg),Cr
3y (GsHs), Fe‘
s w4
(1) (CsHs), Cr
@) (CsHs), Fe

01/ CHESCI3_A]

@)

(4)

@)

(4)

(2)

(4)

5

SiO,

8o}~

K[ PICK(CyH,)]

Na| v (CO); ]

K[ PiCh(CyH,)]

Na[V (CO¥ ]
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13 _Borazole is

(1) ByHg | @) BgHpo

(3) ByN;Hg (45| BH304
| AR ¥

(1) ByHg (2) BsHio

(3) B3N3Hg (4) BH305

14 The colour of [Ti(H20)6]3+ is

(1) Blue

(2) Green

(3) Yeliow
@) P.urple

[Tf(H20)6]3+ CIR Ui

C (1) A
) =
@) d@r
4) T

15 Photosynthesis reaction is

(1) Acid-base (2) Precipitation ,
(3) Redox '~ (4) Complex
ECIEIC R LR axﬁqﬁﬁm ¥ |
(1) orqE .(2) sradqm
¢) @ wgm

| 01/ CHESCI3_A] | 6
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16 Which catalyst is used in the manufacturing of Ammonia by Haber's

process ? _
(1) Fe/Mo (2) Ni
3) Pt 4y V0s

R fafy & smifrn & Pl fafy ¥ dv-w oo wgw B ¥ 7
(1) Fe/Mo | ) Ni

(3) Pt @) 10s

17 For n=3, the energy of particle in one dimensional box is
) H/8ma? @) 34%/8ma?

G 6h2/3ma’ @ 9n?/3ma’

03 ¥ fore, @ Rela < F Rew @ @ s ¥
) 1 /8ma* . @) 382 /3ma?
(3) 6k’ / 8ma’ | () on? / 8ma’

18  The difference between the incident and scattered frequencies in Raman
spectrum is called the

(1) Stokes Lines (2) Antistokes Lines
©—(3) Raman Shift . (4) Rayleigh Lines

vt Aaed ¥ omfrd 7 Rraiis ovgRel ¥ o @ wed 3

(1) e Yad @ v @

() T s @) W™ @
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19 Condensed phase rule equation is

(1) F=C-P+2 2) F=C-P+l
(3) F=C-P+3 @ F=rP-C+1
P e frm T ¥

(1) F=C-P+2 @ F=C-P+l
3) F=C-P+3 @) F=P-C+l

20 Theory of strong electrolytes is given by

(1) Ostwald (2) Nernst

(3) Arrhenius (4) Debye and Huckel
vawt foga el w1 fawra Ren ’

(1) SRS Q) &

(3) o @ R ud e

21  Which of the following is a Hypnotic ?

(1) CH;=C=CHy 2) CCKCHO
i
oH

3) CH3- (13—(70’3 @) CHChL
CHy

e ¥ d-a1 oew ¥ O°?

. CH3—C-CH;

) - (tl) (2) CCLCHO
I

)y CH;- cl,‘ —-CCly @ CHChL
CHA

01/ CHESCI3 A] 8 ||"|||“||“1|||“| [Contd...
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22 (CHy) Ny is used as
(1) Antiseptic )  Antipyretic
(3) Analgesic (4) Uratic
(CHy) Ny &1 S % |
1) shRed (2) e
(3) uRwE @ P

23 | Sulpha Drugs are derivative of
(1) Aniline
(2) Nitrobenzene
(3) Sulphanilic acid

(4) Sulphanilamide

A e
(1) Tl %

(2) TEIEEE %
(3) UFHIME = 5
(4) UFHMEEES H

24 The drug discovered during world war 1I is

RRRRERRRRRRR2RR R R R

(1) Antiseptics {2) Antibiotics
(3) Sulpha drugs (4) Tetracycline
I fayg g8 % 3R ofiwfy & @iw &

(1) s (2) visites
() eI (4) hﬂﬂsﬁ’ﬁ

01/ CHESCI3 Al ’ MR (Conce.



25 Which is the most appropriate about D-Glucose and D-Mannose ?

(1) Enantiomers

(3) Epimers

D-‘q@ﬁﬁrHD—ﬁ?ﬁﬁaﬁﬁﬂQﬁﬂﬁaﬂﬁ—mm%?

(1) qﬁlﬁw war
(3) wdmT

" 26 Which of the following is not found in nature ?

(1) Ribose
(2) Arabinose
3) XKylose

(4) Lysose

P § § @1 wola ¥ T TR R ¥ O?

(1) TEE
(2) T
(3) g
(4) RS

27 Fibroin 1s related to

(1) Globular Proteins
(3) Elastomers
AT WEiE ¥
1 AR T

(3) VIARYgdASD

01 / CHESCI3_A]

@
)

@
(4)

€5
(4)

(2)
(4)

10

Structural isomers

Mesomers

THEATHS  QHEad

HEET

Soluble Proteins

f} -Pleated sheets

g Fom
p—aeiva €
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28 [Edam degradation is used to have
| (1) C-Terminal analysis
(2) N-Terminal Analysis
(3) Both C- and N-Terminal Analysis

(4) Estimation of total number of Amino Acids
=7 fmw ewm § e

(1) C-ary fasaeor

(2) N-ofe fysqam

() C- @ N-swwd fqoawer =1

(4) v oniet orwl W sieeN & g

29 The cofrect interaction between the molecular orbitals of the reactant-s to
produce the molecular orbitals of the product is

(1) HOMO to HOMO (2) HOMO to LUMO
(3) LUMO to LUMO (4) LUMO to HOMO
W%mmaﬁ%qwaﬁw:ﬁmwﬁm%ﬁmﬂmwﬁ
(1) HOMO ¥ HOMO (2) HOMO ¥ LUMO

(3) LUMO ¥ LUMO (4) LUMO ¥ HOMO

30 An electr'olytic reaction means
(1) There is a single electron shift
(2) A pair of electron shift
(3.) Concerted cyclic shift of electrons

(4) Chafge shift from one point to another

FelagaEcE affear ®r el ¥
(1) =0 oo e e g ¥
2) T TW RN Rramy S ¥
() ToE[ B wmy Rrame e &
(4) w%@%@%%ﬁﬁmmﬁwmam%
01/ CHESCE Al 11 [ LTE I [C""‘d
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32

33

01/ CHESCIS Al [ (Con-

Which of the following is LR inactive ?

) NH ) CHChL
G) 0 @ HC
frt § § WA LR 37

1) NH; (@) CHCl,
® 0 @ HCl

The value of Anax (H—E*) for azo group is

(1) 347 nm
(2) 270nm
3) 165 am
4 173 nm

TG A A (1) v ¥
(1) 347 nm

(2) 270 nm
(3) 165nm

4y 173 om

Which does not give signal in NMR spectroscopy ?

1) B¢ 2) 1y

(3) 160 4) 19F

St ¥ -m NMRAwRE ¥ wha T dm F 7
(1 B¢ : @ g

3) 169 @ 1
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34

35

36

The maximum reactivity of saturated Thiophene is during

(1) Reduction (2) Substitution
(3) Elimination (4) Oxidation
Hqd e @ ofteran Bpenslieen, & Qe gk ¥
S () (2) whrems

@3) @ (4) OTEFHH

Conversion of an oxime to Lactum is

(1) Hofmann Rearrangement (2) Beckmann Reérrangement -

(3) Schmidt Rearrangement (4) Pinacol Rearrangement
BNd & Weaed § wiEnT

(1) Fw A (2) wEAT qARET

() fog g (4) eI g

CH,-(CO0C,H3), — [ >— coon

A dibromide is required to give the desired product

(1) CH3 CHB?(CH2)2 Br
(2) Br(CHy)sBr
(3) CHs-CH,~C(Br),CH, CHj

4) Br(CH,), Br

(1) CHs CH Br(CH,), Br
(2) Br(CH,) Br

(3) CHs-CHy~C(Br),CH,-CHj

@) Br(CHy) Br

01/CHESCI3_A] 13
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37 Enzyme Zymase is suitable to convert B
(1) Starch fo disaccharides (2) Maltose to Glucose

(3) Sucrose to Invert sugar (4) Glucose to Alcohol
i o o ¥, oRwdr E,

1) wd ¥ emdbTm A (@) W § e
@) gHE A REtE wEad @) e A TepEd d

38 Zeigler Natta Catalyst is
© () AlfHg
(2) Zn/Hg
(3) Pd - BaS0, [Quinoline
@ (CHs), Af)TfCQ
B w1 IO ¥
(1) AI)Hg
(2) Zn/Hg
(3) Pd-BaSO, [«rd=

@ (CoHs); AlfTiCly

39 A reaction of Nitrobenzene with SnCl JHCI gives

(1) Nitrosobenzene ' 2) Phen_ylhydroxylamirie' _
(3) Aniline © (4) Azobenzene
TR @ SnChL/HCI % we afuie &l _

(1) TEEEEEE @) Wheeghew e

@¢) uhEm | @) TR
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40 Organometallic compound used as an antiseptic is

(1) Ferrocene (2) Mercurochrome
~ (3) Trialkyl tin 4) Azaferrocene
S & w9 ¥ swEm ¥ o am edurew dfm :
(1) Wl - (2) TR
(3) wmuRew fo (4). TETHIEE

41 The difference between the observed value and true value of a quantity
measured of a determination

(1) Mean
(2) Absolute error
(3) Standard Deviation

(4) Relative error

fepdl =it fr & forg O W e ol WM ¥ e wEear ®
(1) =ex “

2y Foa g

(3) wrw ferawm

(4) omifem g

42  Diffusion coefficient is equal to
(1) f/Kr (2) RT/6rnom
() KT/6ma | @ KT/f
ferezor ol aXEY g ¥
() f/KT () RT/6mnom

®)  KT/6mna & KT/f

01/ CHESCIS A] 13 I (Conta..
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44

45

" 43 *'In 4"face’ cenféiéd: cubic (fec) lattice, the number of nedrest neighbour for ﬂ

a given lattice point

(1) 14 () 12

3) 8 | @ 6

e H T (feo) Ww B, R Mg e Rg % R o e
cogksicalt

(1 14 | 2 12

3) 8 : 4 6

Which of the following statements is correct ?
(1) Entropy of universe is decreasing

(2) Entropy is a path function

(3) Entropy is a measure of unavéilable energy

"
it
il
H
"
(4) Entropy of a gas is less than that of solid iE[-
ﬁﬂ%ﬁﬂﬁﬁlﬁﬂ:{—miﬁiﬂﬂﬁ%? :E],
(1) weite @ Tl ¥ B AR
(2) T TH T GOT ¥ ﬂ
(G) T sws S @ AU ¥ |
@ o @ TR dw W TR ¥ AW R R
Aécording to law of 'equipartition of energy', the energy associated with ﬂ
each degree of freedom of a molecule, 1s '
H
i
o
"
"
il

M %KT - ©) %KT

1
G) KT @ SR

e Gl P ¥ e @Y B AOE W il ¥ wEs
st il ' ‘

(1) %KT 2) %KT

1
(B) kT | ) --2—RT

01/CHESCI3_A] - 16 MR (Contd...



46  Open isothermal syétem which can exchange both energy and mass is ﬂ

47

48

'_ (1) Congruent melting point (2) Incongment melting point -

gHN AT %, el

(1) Canonical Ensemble (2) Microcanonical Ensemble

(3) Grandcanonical Ensemble (4) Macrocanonical Ensemble
g T e W S o e A @ R a d, T
(1) fafw s (2) gefafeq wgem

(3) wEdfdisa wR™ @) kT wgEn

According to Maxwell-Boltzmann statistics, number of particles in ith state

.=———-—g'f : ='—"""—gf
M %= Q) =

___ & __&i
@) " SOHBE; +1 4 " OB

(1) = S0BE; 2y m= o0 +BE;
— Si — Si
@) 7 oo+Bei @ n= L0+B

The temperature "at which a compound melts in to a liquid of same
composition as the solid is called the

(3) Consolute temperature (4) Peritectic tem_perature

T R ) APe B O w9 % w0 § ear & e dueT 99 %

(1) watTen e (2) SEENTEH TR
(3) wfew T | 4) vdliepifas qm

Bk e b Rk b Rk b Rk b R R

01/ CHESCI3_A] T I (Contd...




49 How many significance figures are in 0.7040 cm ?

v 1o , @ 2
@ 3 @) 4
0_7040' ¥ e wew om ¥ 7

ay 1 | . @ 2
G 3 | @ 4

50  Molecular weight of Haemoglobin is

0 60,000
(2) 65,000

©(3) 70,000
@) 75,000

R @ e dar ¥
1) 60,000 |
(2) 65,000
(3) 70,000

(4) 75,000

51  Which of the following reagents is not used in solvent extraction

. procedure ?

(13  Cupferron : (2) Dimethylglyoxime

(3) B -Hydroxyquinoline (4) Acetone

P 7 Y R ovas Rome Pt R d w@ wge g ® 7
() wmEEE Q) wEfemEe R

(3) P -FEEEEEEET (4) TEREN

' 01 /CHESCI3 A] 8
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52

53

54

01/CHESCI3 A] 19

Which one of the followmg types of bonding is.true for Ferrocene 7

(1) Hydrogen bridge bonding

(2) Ionic bond having Fe++(:1:—.C5H5)2

(3) Localized Fe—( bonds
(4) . Delocalized Fe—(C bonds

F0T % Rrg P AR F v A ¥ Aw @ 7

_(1) W@@‘q‘ﬁr : @ Fel”“lf(_m—CSH) ¥ st @

() wifpd Fe-Cc du  (4) Pl pe_c W

Chemical energy is converted dlrectly in-to electncal energy in ?

1) An ‘Electrolytic Cell - (2) An Automobile Engine -

| (3) A Battery | (4).' An Electrlcal Power Plant

%eﬁmmﬁzﬁwﬁmaﬁgawfﬁaaﬁﬁ%?
V) ¥ awed dw () ol o

@ = @ e e

‘Bhopal Gas Tragedy' is a case of

(1) Thermal Pollution - (2)  Air Pollution

(3) Nuclear Pollution - (4) Soil Pollution

e e T @
() wig s @ =g v
OBR L LI LR OB S

il
K
"
A
K|
X
A
"
]
A
Kl
R
il
H
"
A
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5‘5 " E.MF. of a cell in terms of reduction potential of its left and nght
electrodes is '

(1) E=E -Erféhr
@ E=Eig+Erign
: @) E=Eygn~Fip
@) E=-[Egn- Epep|

o 4w ¥ 4w T A e b ommwd favm % ey ¥ 9 @
EMF. @&

4y - E= Eleﬁ - Eright ‘
(@)~ E=Epgp + Erigne
3 E= Erig!;t - Eieﬂ

| (4 E= "'I:Eright _E!eﬁ:l

R R R R R R R R

86 The standard reduction electrode potentials of three metals A, B and C
are +0.6 V, —3.0 V and —1.3 V, respectively. The reducing power of these
metals is in order '

(1) A>B>C | (2) B>C>A :El
3) A>C>B @) C>A>B ﬂ

é‘msngei’r A,BWC%WW'W’EWWQT: +0.6 V,
3.0V wd -13V ¥ | §1 gl @ S FE W HH ¢ ﬂ

) ASBSC - @) B>C>A ﬂ

it}

G) A>C>B (4) C>A>B

01/ CHESCI3_A] | 20 “"m “m |||||||| [Contd...



57  For afirst order reaction, K =2 31x10~ 14 sec”!, the value of half life time j}l

in minutes
{1} sx10!! (2) 3x10'3
B)  4x10!? 4 6x10!°

TE Yo e afifbar & Mg K =231x10 48w ¥ 1 5@ aififim
¥ g o oy ww w1 AW, e § @

(1) sx10!l . (2 3x103

(3)  4x10'2 @) sx10!°

38  For first order reaction, which of the following graphs will be straight line ?

(1) [A4] against time

1

2) . [4] against time

(3) log[A4] against time

1

(4) [ AZJ against time
e wife W efhfR & R fer 4 dfen gen emw T wvw
TR
(1) [4] % wo &
I 3 -
L@ [ ¥R e A
@) log[4] @iv www A

(4) [Al_z]aﬁwwff

)@@)@@l@l@@l@!@@l@}@@}@ﬁ)ﬁ

wad
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59 The selection rules for transition in rotational energy level in Raman j%]

Spectrum is
(1) A=l
3 AJ=+2

2)
)

Al =+l

A =42

T W ¥ e SR § e &g e FEm ¥

N AJ==l

(3) A=+

60 Which of the .foilowing diatomic molecules will not give. rotational

spectrum ?
(1) NO
(2) N,
(3) HF
(4 COo

@)
4) -

Al =+1

Al =+2

_ﬁwﬁ-%a?ﬁ—mﬁqmﬁaiﬁﬂtyhﬁ?{qﬂﬁ%n?

(1) NO
@ N,
() HF
@ Co

61 Nylon thread is
(1) BPVC
(3) Polyamide
TEr W e A ¥
(1) drEEn.
(3) TieiTES

01/ CHESCI3_A]

@
(4)

@
(4)

22

Polyester

Polyethylene

Aq’r‘iﬁm

E_
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62 The most reactive halide is
(1) CH; CHy-Cl 2) CH;=CH-CI
@) CeHCI (4)  CgHsCH,-Cl
Al Grade e &
(1) CH;-CH,-Cl @ CHy=CH-.CI

()  C4HsCI (4) CgHsCH,-CI

63  The order of groups in this molecule as per sequence rule is

cry

HO - ? -C=N
COOH

(1) -COOH>-C=N>-0H > ~CH3

(2) —-C=N>-COOH >~0OH >-CH;y -

(3) —~OH>-COOH >~-C=N >~-CH,

4) -OH >-C=N>-COOH >-CH,
(|2H3 : _ .

HO-C-C=EN gy diffs & orgeew Pam & o wqet & w9 &
COOH

(1) —COOH >-C=N >-0H >-CHj

(2) -C=N>-COOH >-0H >-CH,

(3) -OH>-COOH >-C=N>-CHjy

(4) -OH>-C=N>-COOH >-CH,4

RRRRRRREARRRRR DR DR D
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64 Nitration of quinoline gives

\ NO2 N
(M y @ p
N
NO»2 NO2
3) D @ )
N N
FIRIET P TR Sal ®
NO2 NO2
0 , @ m
_ N
NO» NO2
@) P @ [
N ~ N/

65 Oee +CH20 +HCl ——3 Product ()

CHO
(1) @ CHCl
- | -CHO

| Oee +CHy0 +HCl —> wa@ (7)

- CHO

(1) @ CH2C1
CH2Cl |

(3) ee @) CHO
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66  Enolate of diethylmalonate can be prepared by the reagents .

(1) CHsCH,Br @) CyHsONa/CyHs0H
(3) C,HsONa/Ether @4) CHCL
W CHyCHyBr @) CyHsONa/CyHOH
()  CHsONa/Ether 4) CHCI

67 Cope and Claisen rearrangement proceeds through
(1) Cycloaddition
(2) Sigmatropic shift
(3) Electrocyclic

(4)  Substitution
(1) =B AT

2) Rl frems

3) T

(4)  wiereeme

- 68 The formation of Transition state is supported by
(1) bulky groups (2) electron donor groups
{3) electron witt! swing group  (4)  small groups
Tt srEeen ¥ T ¥ wemw b
(1) wE a5 (2) IRE @ A
() TR ST W (@) B8R g

Bk Rk b R bk b b b b b b b b
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69 Which of the following statements is incorrect ?_"

(D
(2)
@)
()

Quinhydrone electrode is redox electrode
Hydrogen electrode is a gas electrode
Calomel electrode is metal electrode

Glass electrode is a reference electrode

e # ¥ de-a W Y 7

(H
@
©)
4

S e T e e ¥

70  An emulsifier is an agent that

o)
(2)
()
4

Helps in formation of emulsion
Homogenises an emulsion
Causes. coagulation of an emulsion

Stablises an emulsion

TRETE Th TH< &
(1) e ¥ P Y wew ¥ (2) AW W @l T
TR @1 WA w8 (4) EE @ wa 3 %

®)

71 The mass average molar mass of a poly-disperse sample of a polymer

(N
@
()
(4)

is smaller than number average molar mass
is greater than number average molar mass
is equal to number average molar mass

is half of the number average molar mass

Wwﬁ%—ﬁﬁmaﬁmwmﬂﬁmw

o
@
@)
@

e ofga A werEE ¥ FE g ¥
Fen offed WeR Ferme § ge ol ¥
de olmw AR A H e EAl ¥
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72 Which of the following match is incorrect ?
(1) Milk - oil in water emulsion
(2) As,S; - Lyophobic Sol
(3) Soap - emulsifier
(4) Au-sol - Protective colloid
Fretivfas & @ o giw v W@ ¥ 7
(1) 38 - o & o9 &1 ay
(2)  Asy)S; — FaRRE @
() WgT - TR
@) @ §w - W e

73  For a single step reaction; 24+ B_k% Ay B rate law is :

I

(1) Rate C4Cxg

"

(2) Rate K2 CA .CB

(3) Rate = KC_EJCB

KCiCy
Ciy 5

(4) Rate

Th W MR 24+ B 48 & R A whew ¥
(1) ¥ = C,;ICB
(2) @ = Ké(:‘_j.cB

3) = xcicy

KCiCh
CarB

@) ==
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74 The frédﬁenc§ (v) of linear Harmotric oscillator is

— —Jlk
1) 5 (k/m) @ S k/m)
@) o Em) @ k)
47 2re
T anghn dwe @ o g ¥
] 1
— Jl& —J{%
(1) o (km) @ o Vk/m)
6 o=k @ 5/k)
' 4in 2rc
oo (v+'—;-] |
75 ‘E{‘)GXP T is the expression of
(1) Rotational partition function
| (2) Vibrational partition function
(3) Translational partition function
(4) Electronic partition function
oo [v.+ —1—) hv
Y exp| —~—2 .
“ kT aTE T
1) i e W @) T RweE Baw
G) wWEATThE RS e (4) TR AR e
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SPACE FOR ROUGH WORK / &= %W % R TE .
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q
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1
4
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i
f
i
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i
i
i
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